An Elastic Collision Puzzle:
Imagine a cue ball moving right at 2.0m/s and the eight ball moving left at 3.0m/s. If the collision is elastic
and they bounce apart, what are their after collision velocities? (Each has the same mass of 0.40 kg.)

Well, you might be able to predict what will happen from our demonstrations last class, but how can we caleulate the
velocities? Let the two billiard balls be the system, which is a pretty good approximation of an isolated system, so

that we can conserve momentum:
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